2025%3A1H

20 25FERAVI>FT—S3> HER

[DIEFEIR ¥ 1 FE)

)11 =| B3R oodg3 A SEHEEE WRE
4H2H(K) |10:30~12:00 AER KEALEFEE 28
13:00~13:25 aF
484H(£) 2RI HEERVE_AREEE
14 : 00~14 : 25 B5F
9:00~10:30 BIEHAFR 41105 = 28 (1 - 2845RF%E)
FEEFEAVITISFT—2 3RO =8
10 : 30~11: 30 e g 1 5o 41108= xﬁﬁ‘ﬁﬁff@‘lea FRIEAIEREE
4878(9) FIREA R EEDH TSR
11:40~12:50 ERAUI>FT—33> 4206%= 28 (1 - 26455RA%M8m)
12 :50~13:20 [REZEPERZID 4313[RE=E £8 (1 - 2458RF%Eh)
PP EAFEZERBEYS - .
14:10~15:10 EZRAFRPAREEATH IR SERE HAREAE
ALz
(NEAFEFIR 71 54]
S =) B¥h JoosA = WHRE
4H2H(K) |10 :30~12: 00 AZER KELEFERE 28
13:00~13:25 ‘ uF
484H(&) 2RI HREENRVE_RBEEE
14 : 00~14: 25 B5F
9:00~10:30 BIEHAF >R 41108 = £8 (1 - 28645R%FE)
10 : 30~11: 30 FEESEAUTLT—S 3 VRU 4110%= ,@EH PP
4B78(8) ' : BRSPS EIRE SR 1> X = ﬁxiﬁzzz ;g;;g;&mmmmac
11 :40~12:40 ERAUI>FT—>3> 4320%=E 28 (1 - 2F45RF%FH)
PP EAPESERBETE - .
14:10~15:10 EZRRRPARLEERTH IR SERE HRPAE
Pa—]
(AHHESFER 711 5F4)
=R ¥R JOo5 A SEhE=E WRE
4H2H(K) |10:30~12:00 AZER AEALFE 28
13:00~13:25 ¥
484H(®) RSk HEERVE_HEE
14 : 00~14 : 25 BF
9:00~10: 30 BIEHA >R 41108= 28 (1 - 28455R8%k)
10 : 30~11 : 30 FEEFAUIST—2 3 R 411029z _@E {5
: : A SRR a1 5~ 2 = xﬁ?:ﬁt'f SR, FRIRAIERE S
487H(R) SAERAR S EDH NS
11:40~12: 40 BAUI>FT—23> 43215= 28 (1 - 28458%H)
PP EAFEL ERERT S — .
14:10~15:10 EFEBIREAREENTH IR SEHE HREIAE
Few3 NE—]
[((EREERNFEIR 11 5F45)
=) =| B3R JoosA SR E WRE
482H(K) |10 :30~12:00 AZER REIEFE 28
13:00~13:25 aF
484H(£) fRERZ] HEENRVE_RKEEE
14 : 00~14: 25 BF
9:00~10:30 BIEHAHF>R 41108 = 28 (1 - 2&45R%EM)
10 : 30~11 : 30 FEEEAUTLF—S 3 VRO 41108 _ﬁﬁ )
:30~11: - SN = HAF >R, B
4B78(8) BRSPS B EE 19> X 2BF@NA I AR, FHRBRHEL
FIREA R EEDH SR
11:40~12: 40 BRAUI>IF—23> 4322%%= 28 (1 2&84£48F%M)
14:10~15: 10 ERFEZERARES SEX= FARRIAS

TEFRAFRRARLEEFHA S X




